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CSRTrack:
Imax = 5915 A; x, y = (1.59, 1.0) mm mrad

OCELOT
GPT
CSRTrack

100

50

0

x s
lic

e
[

m
]

Slice Horizontal Positions

1

0

1

y s
lic

e
[

m
]

Slice Vertical Positions

1.00

1.25

1.50

1.75

x
[m

m
m

ra
d]

Horizontal Emittances

0.98

1.00

1.02

y
[m

m
m

ra
d]

Vertical Emittances

50 25 0 25 50 75 100 125 150
s [ m]

2500

5000

7500

10000

E
[k

eV
]

Energy Spread

50 25 0 25 50 75 100 125 150
s [ m]

2

0

2

E
[%

]

Energy Distribution

OCELOT vs GPT vs CSRTrack Zeuthen: no Coulomb term (space charge), x = 1.0 mm mrad, s = 200 m, Q = 1.0 nC


